EARAROBEEIERT — 2 N— IBISH —F

201278158 (H) 7E{EE3H

m Al -A3 Y53 L ‘ [x&] 2 ‘ (] — | & (&) 14000 TR
[AE4] 1 #%:870,000  ~ 23#%:8500M ~ 3#&:33,000MH”  4#&:19,000M  57#&:11,000 A
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ilsl5l77vp=vvus o8 gJSE(I)E& 1:28.8 3-2-2-1 [38.2| — 2 493 z}%z)\(ﬁ'”ﬁ)
R:ZFAT—LE BiA—NTA—O> K> =) N | Famie
<A NT RY —L 4 ﬁgﬁﬁ)ﬂﬂ 1:29.2 2-3-1-2 [38.6| — | 3 | 45 %igg (1E%)
. 2 o ISt
LHISTLIFL kBT HY TS @ 08 | s
FrEoO> o 4 E?gig— 1:29.9 44-3-3 |39.0| — | 1 | 512 gg%gz (1E%)
. 4 =3
LHIITLIFL L B FAIELT @ O | Xy
RSHLATTI— 4 6 52%6@ 1:30.6 1-1-4-4 | 40.0| — 6 465 fﬁf‘é (tE®)
: @) i
LRFATIE DU LA T T O s
IUIT71Zv IR #oo | EHEC 1:(30.8 7-6-6-5 |37.8| — | 5 | 469 mgzﬂ (8
=~ - . 1) =
RiEA RS =0y BikULamy 42 | X =1 7 ss
— — o5 | AT 1:32.5 5-55-6 | 39.9| — 4 536 | BARAT (ER)
AF X >
J K I;# 7 P %0 © (ra) |EARE
7% tx B:Fs70-2z EBRT7—L
45 | AEHEER 1:36.3 6-7-7-7 | 43.2| — 7 495 | BBTE (1£H)
i ;Ijjx e 54.0 (51%) (3 |ENER
: % B:7U—N—F REHS
® I —F—EBIERL
13=7r= 4,2,5,3,7,1,6
2a|=7r= 4,5,2,3,7,6,1
Jol=5r= 2,5,3,4,7,6,1
40—+ — 5,2,3,4,6,7,1
[ N3
H OB 5 230M 714K 2-5 130H B = 2-5 1,320/ 3EHE 2-3-5 1504
8 B 5 140 885 100M B H 622 1,780 K31 5-2-3 2,170M
2 130 2-3 100M

ABICOVWTRDTEEERROODE. TR LIV,




